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= 1,440,000
s 750,000
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< 9,549,611
2 Ao A 25t 10,421,832 7,567,748 2,854,084
= 1,440,000
s 750,000
J| 750,000
< 7,481,832
W2 X AN MAH(ZXREE) 9,409,233 5,470,619 3,938,614
= 1,440,000
s 750,000
J| 750,000
< 6,469,233
AT L ASMAY XA (ZR)(=12) 1,440,000 1,338,891 101,109
= 1,440,000
101 @124l 500,000 450,000 50,000
= 500,000
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OJIZtMZ 2 At el bl 500,000
= 500,000
201 L2l 100,000 100,000 0
= 100,000
01 At 2t 2l 100,000 100,000 0
O At 2teltl 100,000
= 100,000
206 M= Hl 840,000 788,891 51,109
= 840,000
01 MHZ 4l 840,000 788,891 51,109
OM=ZHl 840,000
= 840,000
NS S ASHL 447,900 111,820 336,080
201 Let249] 45,000 31,500 13,500
01 At 22/l 20,000 17,000 3,000
OMZ XA ZTHZ AXZ 20,000
02 =224l 25,000 14,500 10,500
oxg & JIAHEH =&d7X 25,000
202 odl 17,000 17,000 0
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403 UtXISHE X201 E 4,492,000 4,000,000 492,000
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OMZ A Mo HHMEZE 24 4,492,000
SRHAAIBFRE (N2 HE - MAAIE SUg) (= 1,500,000 0 1,500,000
2)
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< 750,000
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J| 750,000
< 750,000
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STatd 2= A& 1,500,000
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< 750,000
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Fag 280,000
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01 XA E B F S| 560,000 0 560,000
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g 280,000
= 280,000
W2 H&ED 2ee8d 668,440 1,796,970 N 1,128,530
MaD 22 318,440 56,970 261,470
101 e1214| 20,440 18,970 1,470
04 J|12ZtHIZ22NEES 20,440 18,970 1,470
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01 AP 22| d| 12,000 12,000 0
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02 222%4| 30,000 20,000 10,000
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202 04| 4,000 4,000 0
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206 24 2,000 2,000 0
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401 Al HI L 204 HI 250,000 0 250,000
01 Al&H| 250,000 0 250,000
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MNED 2% & KA+ 350,000 240,000 110,000
101 Q124 H] 350,000 240,000 110,000
04 JI2ZtHIZ2 2 NEES 350,000 240,000 110,000
OZXNEZSE 4 - 20&Y 2 AHH| 292,950
OMSEHXN 29 N oA 45,885
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